











THE ETIOLOGY OF EPIZOOTIC EQUINE ABORTION,

TABLE 1
Outbreak of Equine Aboriion H.
Serologieal Tests with Abortus-Equi, ** H

Mol o A, bty gf:ghf;. LU | T Date: 0. | &
W 11/6/42 | 25/9/42 | 20 | 20 | 14/11/42 ‘ 20 | 20 | v2/s43 | 40 | 20
TR July/August | 25/9/42 | 160 | 160 14/11/42‘ 40 | 80 = =
B d L W July/August | 25/9/42 | 20 | 20 |14/11/42 | 20 | 80 | v2/s/a3 | 40 | 40 |
B s | e/9/42 25/9/42 | 80 | 320 | 14/11/42 | 160 | 160 Lt =1 ;s
R ‘ June 1942 | 25/9/42 | 10 | 40 |14/11/42| 10 | 40 | viee/43 | 40 | so
8.voennorss | July/ugust | 25/9/42 | 10 | 40 [14/11/42| 20 | %0 | ve/s/a3 | 20 [ 20
T | July/Augast | 25/9/42 | 20 | 40 | 14/11/42 | 40 [ 160 | v2/8/43 | 200% | 100
A AR | July/August | 25/9/42 | 20 | 40 WI 40 | v/s/43 | 40 | 20
B | July/August | 25/9/42 | 20 | 40 |1a/m1/42| 20 | 40 | vz/s/43 | a0 | 20
W s | July/August | 25/9/42 | 20 | 40 l4/11/42 | 20 | so | vz/s/a3 | a0 | 40
e | July/August | 25/9/42:[320 [640 |14/11/42 | 40 [320 | vesms | so | so |
B, | July/August | 25/9/42 | 10 | 40 |14/11/42| 10 | 40 | 2/843 | 20 | 20
T | July/August T 25/6/42 | 80 | 160 | 14/11/42 | 80 |20 | vz/s/43 | 100 | 100 |
LT | July/August, | 25/9/42 | 160 | 160 141142 | 80 | 160 | ve/s/43 | 20 | 20 |
St | 15 August I_Z,—m—z 160 | 160 14/11/42 | 80 |160 | 21/12/43 | 80 | 0
22.......... | July/August | 25/9/42 | 80 | 160 | 14/11/42 | 40 | 80 2/8/43 | 80 | 20
e S | August 95/9/42 | 10 | 80 | 14/11/42 | 20 oy Vig/i/a3 | 80 | 80
i | 21/10/42 | 25/9/42 _E: s0 | 27/10/42 | 10 | 40 | 14/11/42 | 160 | 640 |
e | 26/0/42 | 25/9/42 | 20 | 80 | 2509742 20 |40 [ 11720742 [320 [0
Stallion 44.... | Swellen Testis | 25/0/42 | 80 | 640 | 14/11/42( 320 | 1280 L o) =
Stallion 45.... ‘ = 95/0/42 | 20 | 160 | 19/11/42 | 40 | 160 = =Rl
¥ = Foaled. V — Inoculated with abortus-equi Vacecine, * R
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; TABLE 1 (cont.)
borteon H. J. Smal (1942).

-Faqui, *“ H " and ** O Antigens.

Date. 0. ‘ H. Date. 0. H. [ Date. 0. H.
V11/8/43 200 | 12,800 20/8/43 400 50,000 ‘ o ‘ e ‘ —d
V11/8/43 200 [ 1,200 20/8/43 800 50,000 - o= —~
V20/9/43 6400 50,000 | F27/5/43 1600 3,200 - e —
V11/8/43 200 1,600 20,/8/43 400 12,800 == s i
V11/8/43 400 6,400 20/8/43 1600 6,400 — = id
V11/8/43 ’ 100 6,400 20/8/43 200 12,800 — = —
V11/8/43 200 3,200 20/8,/43 400 50,000 = = —
VI11,/8/43 100 3,200 20/8/43 1600 6,400 - — —
V11/8/43 400 800 20/8/43 800 50,000 = - -
F31/8/43 © 20 40 10/9/43 20 - = = -
V11/8/43 400 50,000 20/8/43 1600 100,000 gl B A%
V11/8/43 200 3,200 20/8/43 1600 50,000 = = —

24/9/43 80 40 19/10/43 40 20 = = =
V29/4/43 200 6,400 8/5/43 200 50,000 = = =

V2/8/43 40 20 | Vi1/8/43 200 3,200 20,8/43 400 | 500,000

2/3/43 80 320 | 2/8/43 160 40 = = =

ine. * Reaction on 2.3.43 was O = 100, H = 800.
G )]_20a
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